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(Question no. 14 is a Case Study Based Question. It contains S subparts.
Each subpart carries 1 mark.)

14. Mr. Jhadav is having a garden near Shimla. In the garden,
there are different types of trees and flower plants. One day
due to heavy rain and storm, one of the trees got broken
as shown in the figure. The height of the unbroken part T
1S 15 m and the broken part of the tree has fallen at 20 15 m
m away from the base of the tree. l

Answer the following questions:

(i) What is the height of the broken part?
(a) 15 m (b) 20 m
(¢c) 25 m (d) 30 m
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(ii) What was the height of full tree?

(a) 40 m (b) 50 m (c) 35 m (d) 30 m

(iii) The length of the hypotenuse of the right triangle formed in the above situation is :
(a) 1S m (b) 20 m (c) 25 m (d) 30 m

(iv) Area of right angled triangle formed in the above situation 18 :
(a) 100 m* (b) 200 m? (c) 60 m? (d) 150 m?

(v) The perimeter of the triangle so formed is :
(a) 60 m (b) 50 m (c) 45 m (d) 100 m
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